EARAROBEEIERT — 2 N— IBISH —F

2016858210 (£) 2EERIA

R EEEXY

REEFI

CES&)

HEE] B

(xwlw | lmEmml - |2 5 oom &

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= - N FlBEX :02. —7- . . MEE— (ERH
N BREEPATA 3 & 2(0_2)6 6-7-7 [33.8| 87.9 | 1 ig)z i
R T RT—EY BTHILE =¥ Tr— L
> LY # 3 | EEAA 2:02.6 4-3-3 | 34.3| 87.7 | 3 470 | BEE= (EH)
2 &N 6 ARV —=Ib 57'?5.0 (NF) (-10) %) Y5TLy K957 -5747
RTIRATFSLI B:LAY—IN—ISR iS4 S
= 4 s 3 | KERF 2:02.8 3-3-3 [34.5|85.5 | 13 | 438 |AMIERE i)
3 13 EZRI<T KT 54.0 m Cgy | () Fmsus
L:NDd BeEIRIANRY L HhEE IR
o # 3 | AIBIEA 2:03.1 2-2-2 |35.0| 78.9 | 4 480 | FEEX (EH)
4 Y12 ZHA L—F7— [B] 55.0 A 3/4) (g |EHSM
R:FA—TAN b B Tx—1y b aEutie]
S 5 3 | SEE 2:0 10-8-7 [34.3]82.4 | 6 436 | NEfRRL ()
5 1[1[/ NP =Ta 54.0 ") (o |EEBHEHD ()
R:Tv TRy b Bib—Ya BXKEE
= 4 3 | A2 2:03.1 1-1-1 [ 35.2| 76.7 | 5 440 | REEE= ()
618118 ORXRETZ>H 56.0 (7€) +2) EHE%E
R:¥>inq10— B:T75T5>H RE77—L4
$ 4 3 | BBESH 2:03.3 5-5-5 34.8| 79.6 | 7 474 | REEZR] ()
718117/ Ko RA—Jb 54.0 (1 1/4) (g | BNl
LIV INATA—h— B:I54 745 by T BEEAS
i Sy = # 3 | HREEE 2:03.3 7-6-5 | 34.7| 80.1 | 10 466 | /INE—S (EH)
8l1]2 T 7X— b 54.0 (AF) (a) |F¥ESNTTT
RV RYTYZIIR BNRAILY) A
. # o3 | AEEE 2:03.5 1-11-9 |34.6| 78.0 | 2 438 | FIEHE—BR (%)
91816 AyxFauyr 56.0 (1 1/4) (+6) (%) Favy>
LZAFAT—=ILE B:Yv KUYy b RS
S 5 . 4 3 | BEEA 2:03.5 11-11-11 [ 34.5| 78.1 | 17 | 408 |HAl&ZE (k)
10[5[10| ¥ 77 7F v~ 54.0 (7¢) ) | EEER
R:7y3IZ—L B:F—9U>a>rv=7T HEE {§—
A 4 3 | FPEAS 2:03.7 14-11-11 [ 34.7] 75.9 | 8 426 | REEE (FH)
11l5/9| 7B>7T A53.0 ) +2) EE%%%
Z:rn7x B4 xavovr Fx B
ENFIN 4 3 | ABEFN 2:04.1 18-18-18 [34.4 | 71.8 | 12 | 460 |=mE= (EiH)
1217115 hAHhT/ 56.0 2 1/2) (-4) FlIER
LihY I/ RIA47T B:oFx—xA1 K45
N = JIHERSE :04. -10- . . KIFRE (E
A HLT 3 e 2(024)4 7-10-13 | 35.3 | 66.3 | 11 ig)ﬁ S
LivavFrarT BYATSEK BEZ &Y K
S S B :04. -8~ . . LERIEY (E#
avF VA 3 | 2l 2(/(\);;1 7-8-9 |35.5|64.3 | 9 ?ff) Lhee
LIV INATA—h— B3 F T7yh [ELREEAIES
R EEpE— :04. -16- . . BEREH (EH)
b= x>k i 3 ES 2 84) 6 15-16-15 [35.2 | 65.8 | 18 (433) A
g/ XLLy s B:T77MT773 b zae]
— oS EEET : 15— EPNCSE S )
FrwxroOn 3 Xk 2(.30/:2.)7 13-15-13 [35.5| 62.2 | 15 <5+226) L
L:N—ETv— B:vI)Ery HET7—L
: 5 t 3 | EBPEE 2:04.9 17-17-17 [ 35.4 | 61.7 | 14 | 460 |/E—S (EH)
A—X%77 .0 (1 1/4) 0 HEEE
R:F>T747 B LI—FH-I KA
o= ey FR—H8 :06. -11- . . 25B— (ER)
NILSY 4 —0O i 3 s 2 (096) 4 15-11-15 | 37.0 | 41.0 | 16 (ﬂg) %‘E{‘fﬂ?’
R:T7—974+—Z B:TVA-—H HET77—L
@ 21 L
£y 47.3-34.7
NO>24 L | 12.9-11.9-12.0-12.6-13.0-12.9-12.6-11.4-11.4-11.9
® I—F—&EBIERL
13—7-
23=7F= (12,%18)13,6,17,3(2,7,5)1(10,16)14,9(4,11)8=15
== 18,12(6,13)17,2,3(1,5)7(10,16,9,11)14,4,8-15
41—F— 18,12(6,13) (2,17) (1,3) (16,5) (10,9) (7,14) (4,11)8,15
[ RN
B Oj 3 170 794K 3-6 300M & 2-3 570M &R 3-6-13 21,360
# B 3 110 3-13 3,520M B E 3-6 580 EE 3-6-13 52,340
6 220/ 6-13 8,490MH B H 3-6 850M
13 1,890M

ABICOVWTRDTEEERROODE. TR LIV,




